Math 201-Fall-2015-16
Calculus and Analytic Geometry lll, sections 25,26,27,28

Quiz 1, October 1, 2015-Duration: 60 minutes
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1. (20 pts.) Find the following limits
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2.
(a) (15 pts.) Test each of the following series for convergence
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(c) (10 pts.) Find all values of p for which the following series converges
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3. ( 1}/6ts.) Find all values of x for which the following series is convergent.
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4. (a) (A% pts.) Find the Taylor series expansion of f{x) = (“"3) about the point a = 3,

and use it to find /*7(3). ( Hint: First find the Taylor series of = about a = 3).
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(b) (3 pts.) If fis the same function as in part (a) above, find the Taylor series of the
derivative /' (x) about a = 3.
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5. ‘Qﬂ'pts.) Lat Zn a, be an infinite series of posmve terms, and S, its sequence of of ,\)C
partial sums. Suppose that we are given that lim... &~ S = % s ,795'
(a) Does the serles Z _, an converge or diverge? Justify your answer.
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(b) Is {a,} a bounded sequence? Justify your answer.
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